
 

 

Answer on the question #60798, Chemistry / Physical Chemistry 
 
Question: 
Convert 20g NaOH in 500 centi meter cube solution into MOLARITY.  
 
Solution: 
By definition, molarity is the ratio of the number of the moles of the solute to the volume of 
solution. 
 
The number of the moles of sodium hydroxide is: 

𝑛(𝑁𝑎𝑂𝐻) =
𝑚(𝑁𝑎𝑂𝐻)

𝑀(𝑁𝑎𝑂𝐻)
=

20 𝑔

39.997𝑔 𝑚𝑜𝑙−1
= 0.500 𝑚𝑜𝑙 

The volume of the solution is usually expressed in liters. One centi meter cube is equal to one 
milliliter. Then, 500 centi meter cube is 0.500 liter. 
 
Thus, we can calculate the molarity: 

𝑐(𝑁𝑎𝑂𝐻) =
𝑛(𝑁𝑎𝑂𝐻)

𝑉(𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛)
=

0.500 𝑚𝑜𝑙

0.500 𝐿
= 1

𝑚𝑜𝑙

𝐿
 

Answer: 1 mol/L 
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